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10th -Maths
I - All congruent figures are similar.
Il - All similar figures are congruent.
Which of these is correct ?
(a) (i) only (b) (ii) only

( c) Both (i) and (ii)

D 3em C S 3.5 ¢m R
. S
|
Jcm ;3 cm 3cem 3om
1 O
A 3cm B d 35cm Q
Are the two fig shown above similar ?
(a) YES

All squares are
(a) Congruent

(c) Similar

All triangles are similar.

( a) Equilateral

(c) Scalene

Any two rectangles are similar.
(a) TRUE

Fill in the blank using the correct word given in bracket: All squares are

(a) SIMILIAR

Complete the following statement: Two figures are called similar when

(@) They have same shape.

(d) All of the above

(b) NO

( b) Non-congruent
(d) Not similar

(b) Isosceles

(d) None of the above

(b) FALSE

( b) CONGRUENT

(b) They have same size.

Marks
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( c) They have both same shape and size. ( d) They have neither same shape nor same
size.

State True or False: In the above diagram, two triangles are similar.
(a) TRUE (b) FALSE

State True or False: In the above diagram, two triangles are similar.
(a) TRUE (b) FALSE

10 State True or False: If in two right triangles, one of the acute angles of one triangle is equal to
an acute angle of the other triangle, Then the two triangles will be similar.

(a) TRUE (b) FALSE

11 State True or False: AABC ~ APRQ
/B=/Q.

(a) TRUE (b) FALSE

12 State True or False: If AABC ~ ADEF, then we say AB=DE?
(a) TRUE (b) FALSE
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13

14

15

16

17

18

19

20

21

22

State True or False: Itis given that ALNM ~ AY ZX.Then 3% = £
(a) TRUE (b) FALSE

State True or False: Itis given that ALNM ~ AY ZX . Then % = %
(a) TRUE (b) FALSE

State True or False: It is given that ALNM ~ AYZX Then /M = /X.
(a) TRUE (b) FALSE

State Whether True or False: All congruent figures need not be similar.
(a) TRUE (b) FALSE

State Whether True or False: A circle of radius 3 cm and a square of side 3 cm are similar
figures.

(a) TRUE (b) FALSE

State Whether True or False: If AABC ~ AXY Z, then % = %.
(a) TRUE (b) FALSE

State Whether True or False: f ADEF ~ AQRP,then /D = ZQ and /E = /P.
(a) TRUE (b) FALSE

All similar figuresneednotbe ____ .
(a) Congruent (b) Different

(c) Same Angle (d) None of these

Two polygons of the same number of sides are similar, if their corresponding angles are
and their corresponding sides are

(@) Not equal, proportional ( b) Not equal, Not proportional
( c) Equal, proportional (d) Equal, Not proportional

. , DF _ ED _ EF
If in two triangles DEF and XYZ, YZ — %7 — ﬁ,then
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(a) ADEF ~ AXY Z (b) ADFE ~ AXY Z
(c) AFED ~ NZXY (d) AEFD ~ AXYZ
23 State True or False: If AABC ~ AFED.Then ‘;—g = g—g = ﬁ—g. 1
(a) TRUE (b) FALSE
24 State True or False: If one polygon is similar to another polygon and the second polygon is 1
similar to third polygon, then the first polygon is similar to the third polygon.
(&) TRUE (b) FALSE
25 /\ /‘\ 1
5cm 15 em
Jcm T Cm

The given shapes are mathematically similar. Calculate the unknown side.

(a) 5cm (b)Bcm
(c)9cm (d) 10cm
26 If AABC ~ APQR, AB = 6.5 cm, PQ = 10.4 cm and perimeter of AABC = 60 cm, find the 2
perimeter of APQR.
(a) 75cm (b)85cm
(c) 94 cm (d)96cm
27 It is given that AABC ~ AEDF such that AB = 5cm, AC = 7 cm, DF = 15 cmand DE = 12 cm. Find 2
the length BC.
(a) 6cm (b)6.25¢cm
(c) 7cm (d) 7.45cm
28 1
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Q) o

(ii)

AN

(1ii)

Which of these shown in the above fig contain similar figures ?

(a) (i) only (b) (i) and (ii)
(c) (i) and (iii) (d) All of the above
29 P 3
B
R
In the above fig, A, B and C are points on OP, OQ and OR respectively such that AB [l PQand AC Il
PR.IsBCIIQR?
(a) NO (b) YES
30 3
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31

32

33

B
M
A F C
T
N
A cm D
In the above fig, if LM Il CB and LN Il CD, Is 535 = 45 ?
(a) YES (b)NO
3
A
D
i
B F F- -
In the above fig, DE Il AC and DF Il AE. Is 25 = 25 2
(&) YES (b)NO
If in AABC and APQR, 5% = 28 = B then __ 3
(a) APQR ~ ACAB (b) APQR ~ AABC
(c) ACBA ~ APQR (d) ABCA ~ APQR
2
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Af
EX \F

D C

ABCD is a trapezium as shown in the above fig with AB Il DC. E and F are points on non-parallel
sides AD and BC respectively such that EF is parallel to AB. Is 1)

BF ED '

(a) YES (b)NO

34 [ 2
P
o) T
Q I

In the above fig, % = % and EPST=gPRQ.PQRisalan__________ triangle.

( a) Equilateral (b) Isosceles

(c) Scalene (d) None of the above
35 2
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In the above fig, (i) and (ii), DE Il BC. Find EC in (i).
(a)2cm (b) 3.5cm
(c)3cm (d) 4cm

36 2
A
LSem A1 em

In the above fig (i) and (ii), DE I BC. Find AD in (ii).

(a) 0.8cm (b)1.6cm

(c) 2.4cm (d)3cm
37 2

A
-bn.\“_
/I
o e
r—'; \K‘-H
4 e
1 1]  fs

In the above given figure,ZD = 90° and AD is perpendicular to BC. Then,

(a) BD.CD = BC? (b) AB.AC = BC*

(c) BD.CD = AD? (d) AB.AC = AD?
38 Itis given that AABC ~ ADFE, ZA =30°, ZC = 50° AB = 5 c¢m, AC = 8 cmand DF= 7.5 cm. Then, 2

which of the following is true?

(a) DE=12cm, £F = 50° (b)DE=12cm, £F = 100°

(c) EF =12cm, ZD = 100° (d)EF = 12cm, £D = 30°
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39 State True or False: D is a point on side QR of APQR such that PD is perpendicular to QR. Then it 1

is correct to say that APQD ~ ARPD ?

(@) TRUE (b) FALSE
40 2

A
[ E
Lo O - L r-.:
i - _ AD _ AE : . .

In the given figure above, ZD=ZEand 5 = %¢ - Then BAC is an isosceles triangle.

(@) TRUE (b) FALSE
41 2

From the above given figure, find the value of x for which DE is parallel of AB.
(a) 1 (b)3
(c) 4 (d)2
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42 ABCD is a trapezium in which AB is parallel to DC and P and Q are points on AD and BC, 3
respectively such that PQ s parallel to DC. If PD = 18 cm, BQ = 35 cmand QC = 15 cm, find AD.
(a)B0cm (b)50cm
(c) 40cm (d)35cm

43 If A ABC ~ A DEF, AB = 4 cm, DE = 6 cm, EF = 9 cmand FD = 12 cm, Find the perimeter of A 2
ABC.

(a) 12cm (b)15¢cm
(c) 18cm (d)20cm
44 2

B C

In the above figure, D and E are points on the sides AB and AC respectively of a AABC such
that DE || BCIf £2 = £ and AC = 6.6 cm, find AE.

(a) 3.6cm (b) 4.8cm
(c) 2.4cm (d)1.2cm
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B C

In the above figure, D and E are points on the sides AB and AC respectively of a AABC such
that DE || BCFind the value of x, when, AD = (7x - 4) cm, AE = (5x - 2) cm, DB = (3x + 4) cm and

EC = 3xcm
(a) 4cm (b)5cm
(c)6cm (d) 7 cm

46

2
B D C
From the above figure, In a AAABC, AD is the bisector of ZAIf AB=5.6.cm,BD = 3.2cmand BC =
6 cm, find AC.
(a) 29cm (b)3.4cm
(c) 43 cm (d)49cm
47 2
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A B

In the above adjoining figure, ABCD is a trapezium in which CD||AB and its diagonals intersect at
OIfAO= (2x+ 1) cm, OC = (5x-7) cm, DO = (7x-5) cmand OB = (7x + 1) cm, find the value of

X.
(a) 1,3 (b)1,2
(c) 1.1 (d) 1
48 Ina AABC, AB =6cm, ZA =45° and AC = 8 cmand ina /ADEF, DF = 9cm, /D = 45°and DE = 12 2
cm, then AABC~ /ADEF.
(a) TRUE (b) FALSE
49 3

B C

In AABC, DE || BC so that AD = (7x - 4) cm, AE = (5x - 2) cm, DB = (3x + 4) cmand EC = 3x.cm.
Then, we have

(a) x=3 (b)x=5
(c) x=4 (d)x=25

50 1
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From the given figure, O is the point of intersection of two chords AB and CD such that OB = OD
and ZAOC =45°. Then, AOAC and /AODB are

( a) Equilateral and similar ( b) Equilateral but not similar
(c) Isosceles and similar (d) Isosceles but not similar
51 R 2
63 7.6
18 80 33
60
= 6 c P 2 Q

Using the above fig, find E P.
(a) 30° (b) 80°

(c) 60° (d)40°

52 2
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In the above fig is a girl of height 90 cm is walking away from the base of alamp-post at a speed
of 1.2 m/s. If the lamp is 3.6 m above the ground, find the length of her shadow after 4

seconds.
(a) 1.2m (b)1.4m
(c)16m (d)1.8m
55 | re Q N P 2
1d
A
M
C
o R
In the above fig, CM and RN are respectively the medians of A ABC and APQR. If A ABC ~ APQR,
CM _ AB
Is TN 70 ?
(a) YES (b) NO
54 1
C
D
P
A m| B
E
In the above fig, altitudes AD and CE of A ABC intersect each other at the point P. Is AABD ~ A
CEB?
(a) YES (b) NO
55 1
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C
M
A P

B
In the above fig, ABC and AMP are two right triangles, right angled at B and M respectively. Is
AABC ~ AAMP ?
(a) YES (b)NO

56 3
A
\(’ (-'J‘j'» =
\ N
/.;\\

In the given figure, two line segments AC and BD intersect each other at the point P such that
PA=6cm,PB=3cm,PC=25cm,PD=5cm, £ APB = 50°and £ CDP = 30°. Then, Z PBAis

equal to
(a) 50° (b) 30°
(c)60° (d) 100°
57 2
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In the given figure, AODC~AOBA, /BOC = 115° and ZCDO = 70°. Find ZOBA.

(a) 70° (b)75°
(c) 75° (d) 85°
58 1
C /\
D™~y
= ”
wn
P~
A Tm B

In the given figure, ZCAB =90° and AD | BC.If AC=75cm, AB = Tmand BC = 1.25m, find AD.
(a) 80cm (b)60cm
(c) 40cm (d)100cm
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59 3

3cm

b=

B 6 cm C

From the given figure, DE ||BC. If DE = 3 ¢cm, BC = 6 cm and ar (/AADE) = 15 ¢m?, find the area of

/NABC.
(a) 15 cm? (b) 30 em?
(c) 60 em? (d) 120 em?
60 The shadow of a 5-m-long stickis 2 m long. At the same time the length of the shadow of a 3
12.5-m-high tree (in m) is:
(a) 3 (b) 3.5
(c) 45 (d)5
61 In a triangle, the perpendicular from the vertex to the base , bisects the base. Then the triangle 1
is called
(a) right-angled (b) isosceles
(c) scalene (d) obtuse-angled
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